Math 395
Spring 2005

Take-home Quiz #3

Due April 18, 2005









Name__________________
This is an open-book, open-notes quiz.  You can use text, notes or any other source and you can work with other students if you choose.  Each student is responsible for his or her own answer, so don’t just use someone else’s answer uncritically.  
You can compute all of this by hand if you choose.  If you do use a spreadsheet program you may wish to email it to me to help me follow your work.  Either way, show your work, including the formulas that you have used.  There is only one question, with a few parts to it.

Let S=X1+…XN be an aggregate loss random variable using the collective risk model with frequency N, which is a compound Poisson-Binomial random variable with parameters λ=0.5, m=3, q=0.9, and severity X, which is a Pareto random variable with α=3 and θ=1,000.  For computational purposes use a discrete approximation to X based on units of 50 and rounding to the nearest unit.  Compute numerical values for the following:
(a) the net stop loss premium with an attachment point (i.e. deductible) of 200.

(b) the net stop loss premium with an attachment point of 220.

(c) the standard deviation of the excess loss random variable with attachment point of 250.

(d) the standard deviation of the retained loss, i.e. the part of the aggregate losses not covered by the stop loss, when the attachment point is 250.  
